
4 1 If-g = 4 X (-g), 

then D 
~ =D·<ol· 

List the factors 
of '10. 

Is this number 
prime or composite? 

Each person at a 
2 

party will eat 3 of 

a pound of turkey. 

and 8 people will 

be at the party. 

How many pounds 

of turkey will be 

needed? 

25.6'14 + 15.507 = 
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4 
John eats 12 of a 

sandwich. Emma 
3 

eats 12 of the 

same sandwich. 

How much more 

sandwich did John 

eat than Emma? 

Wr.ite <, >. or = to 
make the statement 
true. 

lQl 
3 5 

2 5 D 
10 + 100 = 100 

D '1. ecompose 12 1n 
two ways. 

D D 
A. 

'I 
12·+12=12 

D D 'I 
B. 12+12=12 

Owen's bedroom 
·has cO perimeter 
of 46 feet. If the 
length of the 
bedroom is 11 feet. 
what is the width of 
the bedroom? 

Write<,>, or= to 
make the statement 
true. 

o.2Qo.4 

Write the equation. 

Vanessa has 
10 stickers. T ora has 
6 times as many 
stickers as Vanessa. 
How many stickers 
does Tara have? 

Week #26 

D so 
10 = 100 

3 1 s-a= 

Write the decimal. 

6 
100 = 

1 2 
53-23 = 

5'1 
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Name __________________________________ ___ Week #26 Assessment · 

1. 2. 4 

4 1 6 D D 2 X 5 = 
~~ 

If S = 4 x (-g). then 10 = x (D). 

. 

3. 2 
4. Write<,>, or= to make the statement 

Each student needs 5 of a cup of play true. 
dough to build a house. How many cups 0.15 0 0.10 
of play dough are needed for q students? 

5. Write<,>, or= to make the statement 6. 3 1 
true. a-a= 

lQl 
5 3 

: 

:.~·· . 
7. 

D 5. 
8. 

1 5 
ecompose 5 rn two ways. 46- 36:;; I 

D D ' 

A 
5 

--s+--s=s 
' 

B. D D 5 -+-=-
5 5 5 

q, 

Holly took ~ of a pan of brownies. Ivan 
10. D 

qo 

took ~ of a pan of brownies. How much 
10' = 100 

more of the pan of brownies did Ivan 

take than Holly? 
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